Parent Function Intro Name I{‘W Pd

Match the name & equation to the graph. [g )

Names: A) absolute value B} cubic C) linear Y quadratic E) radical
Equations: F) y = x Gly=x> Hy=x Dy=Ix Ny =Vx
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For - B\ -13 use —2 y—a(x—h) +k «— /}
i _sdveic k.ﬂA/ maltdh sleinnrens . 11) describe the effect of & on the graph.
MOWED v 1(53%% "h unds ___12) describe the effect of h on the graph.
1Y X

Mouwen wp ) ‘C Onits 13) describe the effect of K on the graph.
Identify the parent function name and describe the transformation for each function.
6.  g(x)=3(x-172-6 Name:__Quaebvatic
Transformation: 1) SYM%(!VU!A \ou‘ '% 2) Ri&g\/\ir 1 3) D)u.ﬂ/] (0
7. fx)=5x27-11 Name:_ (UbiC
Transformation: 1) Streich 'ot,}' g 2 L ng N 3) Doumn

8. hx) = —glx+6| Name: Aol . Vo, Transformation I)CUW\PWW “/3 2) L()‘fﬂf (o

9. f(xy=x+6 Name: L WUAN" Transformation 1) U 69 (e

10. What is the effect on the graph of the function y = x" +2when it is changed to y=x*-3? Mowe S 6{[)(.02/}

Is it a function? 11-14
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V5.

Describe how ea{h function is transformed from its parent function
15)g(x)=(x+2)z-1 Transformation(s): (¢ Fr 2, clooon 1

16) f{x) = % |x—1| Transformation(s}): C()W\P“W-( '/3 , 2 l"act { ’j_
Given the parent function and a description of the transformations, write the equation of the
transformed function f{x).
17) Absolute value—vertical shift up 5, horizontal shift right 3 \{) = | X 3\ ¥ 6
18} Linear—vertical compression by 2/5 !‘)/ 5%
19) Square root—vertical shift down 2 \[_f-* N
VL
20) Quadratic—vertical stretch by 5, horizontal shift left 8 6{){ = 8 )
21) Cubic—vertical stretch by 3/2, horizontal shift 2 units left, vertical shift up 1 3/3‘ (\( 1‘- 9) +- l

|
| —————
22) Reciprocal—horizontal shift 1 unit right X - l

23) Cube root-—vertical compression by 2/3, vertical shift 2 units down 2} / , 3}‘*— - 3\

L‘\‘(\Q.-CLJ‘( 24) Jimmy takes 5 naps per day. Is this statement Linear or Quadratic?

@\fui DL 00025 Steven shoots a rocket from the ground.
Is this statement Linear or Quadratic?

26)  Below are tables of points for two functions. Describe the trausformation. € NAWE e Pafe,nf Function

Parent function Translated <
A function %L\g}l\ﬂ’ & 7 Jodent Fonchon y
X ¥y x ~] ¥ y - Y Qw a/Q
-1 3 // o) 9 >. -1 a‘ , T ______|.[_-——-""
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27) Describe each transformation. Then write an equation for £(x) in terms of £ (x).

a) b) R )
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L= £ i 1YY -tf()0=-C(><*5>-“|6
What is the domain and range of f(x) fora? O (6,51 & (3,0 forb? 0 (en,e0) 1 2,00)
Domain and range of t(x) for a? B, (¢ ,LD Q. (0, _9\1 for b? D:'.(" oo/m) g ‘1,{5 L W)
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